= = When ;o . |
. a firm is able to sell more quantity of output at the same price, then' ?

(1) AR <MR . (2) AR > MR
s ) |
;g)[ AR =MR _ 3 (4) None of the abuve

| Wﬁ_wﬁmawmwﬁmmﬁﬁﬂm%%
(1) AR<MR = B  (2) AR>MR
() AR=MR o (4)3@%*?%@%3@

2. Which of the follawmg is objective of tax planning ?

_ (1) To curb tax evasion . (2) Shield against high taxation

(3) Avoidance of llt:gatlon (4) All of the above -

"ﬁﬁﬁmﬁrﬁ@raﬁqmﬁ@mwa@w%?-
(l)a?{ih‘&waa@marnﬁ%ﬁm (2)@%%%?@@%@3

@) gFAH ¥ gEg (4) ST T
3. Foreign income received and accrued outs:de India fr ion s i
om a profi
* India will be taxable B ;etup outside
(l) For Remdent unly N B o -

(2) For Remdent and Non—Res1dent only

(3) For Re51dent and Nut ordmarlly resxdent only

(4) For Non-Res:dent only | - v T -
e L T Y B e e ot @
(1) Faw Fal & Rig

) P Ak sfarda B ﬁ‘vlq o B
(3)ﬁawﬁ%ﬁrqe?trem?ﬁ?qrﬁm%mﬁ=ﬁf

4) Baw Ay $ R -

g 4. From whlch of the followmg countrles the FDI inflows in Indla 1S highest ?

) UK : (2) France | '(3) USA (4) Mauritius
ﬁmﬁi@aﬁﬁf@m%m%wﬁmlmigmmzs%? ,

-(1) 'g\o Po @%"  (3)go Q,'Ha To (4) AiRyE - |

MPH/PHD/URS-EE-Z(}I9I(Commerce)(SET-Z)!(C) R .
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@ Who is the chief Economist of International Monetary Fund ?

(2) Gita Gopinath

(1) Raghuram Ra_]_an
_ (4) Shaktikant Das

(3) Arvind Kumar
aﬁﬂ@ﬂﬂﬂm%g@mémﬁﬁﬁﬂ% ¢

(1) TG 5T ) frar i
(3) ST JFAR | " (4) QiRRTERIT &9
Kinked demand curve explains : . | -
(1) Price flexibility . (2) Demand rigidity
(3) Price rigidity . (4) Demand flexibility
ﬁfgf%ﬁqmaﬂsaaﬁ% o
(l)ﬁ?xaha | 4 (2)-#‘1’77 HSIRAT

@) o R - (4)#1"#@%1

Which of the followmg theories of 1nternat1c=nal trade can be better understond w:th the
help of opportunity cost ? , ' .

(1) Fundamental theory .. (2) Factor endowment theory

(3) Theory of absolute advantage | .(4) Thenry-uf comparative advantage
Wwﬂwﬁmwﬁﬂﬁ%%@ﬁﬁﬁﬁq—m
SeaX GUST ST §HT & ? - |

(1) 9 bErT Ty .(2j FHIH Eiﬁﬁﬂ%ﬁ ﬁw.cn#r |

| (3)‘3;“{'311“{35[&1%1'—([ | '7(4)@?@253113#%%@?
8. The process of increasing the contents of the _]()b or dehberate upgradmg of
7 responsibility, scope and challenge in work is called: = b
= (1) Job Enrichment o  (2) Job Analyms
(3) Performance Appraisal 4) Job Enlargement;
Mﬁmﬁwﬁwﬁmﬁ%mﬁﬁmmwmﬁ
(1) Nl WA 2) B R
0 3) yee B Tﬂﬂo—rr ~ 4) ﬁ“ﬁo‘& Ed qﬁ‘sf

MPH/PHD/URS-EE-ZOI9/(Commerce)(SET-Z)/(C) SR T '* o
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CL ' | i . :r-" .. .

o Match List. ist-IT and select ' ¢ ow
c Llst I wnh List-IT and select the correct answer using the codes given below

and lists ;
~ List1, " List-1I
- g I:Ef]‘ ;’;ﬂl)’SISl 1. ‘Capital structure
- C. Return 021?111:;;5 = . JeoniConrol
B, MM Theory ent j :.)Vorkmg Capltal‘ r.nanagement
e, . Overall profitability
Codes : |
A B. C D
M2 1 4 3
@2 3 4 1 <
G)2 4 1 3 37
43 4 1 Dozg, # | | o | |
-II &% a1y I P
¢ Q\'iﬂ'il | : .’ I Fy | ' -ﬁfﬂ'ﬁll'- R s |
A. VED%I'E@'EI'UT T BB e 1. fi@ﬁm ; ?
C. Frasr o i '3, wrdsh Gofr oo
D. w7 @7 s -4 I TSR
AB C D
M2.1 4 -3
22 3 4 1
32 4 1 3
43 4 1 2.
10. In which of the followmg 51tuat10n the income elastlmty of demand will be greater
- than unity : . - ~ . | -
" ( 1) When commodity is a necessity' (2) Whe‘n commodity is _inferior'
(3) When commodity is a luxury - - (4) None of the above .. .
ﬁwﬁ@rﬁmﬁuﬁﬁmaﬂm@aw%eﬂmﬁ? .
'_(I)Wa@waﬂawsar% S @S ag R ey
) wq-qégﬁﬁﬁ(w)é’l‘cﬁ% (4)@%3@2!%5‘3%‘?
MPH/PHD/URS-EE—ZOI9/(Commerce)(SET-Z)l(C) L e i PUTO.
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11.

12

13.

14.

4P's of marketing were developed by .:

(1) Mc Carthy | (2) Henry Fayol -
(3)-J.R. Betty ~(4) None of the above
- 4PS R Ewr fafe ia,-a :Ter a
ORE] " () ¥h A |
(3)@rcmoa-ar' e (4)eqﬁmarﬁz€r£=fa
Which of the: followmg is a non-tarlff barrier ?
( l) Quantlty restrictions - . ¢ ) Fm:mgn exchange restrictions.
(3) Preferential arrangements | -4 All of the above
ﬁﬂﬁi@ﬁﬁ%zﬁq-ﬂr@ﬁtww%?
(1) == sfyeier L - (2) TRel gmr uikEy
(3) TENE e e B @) SR Wl
Which of following is a 7ot al-hegoti\able in;trpnient ?
(1) Dividend warrants' - - (2) Cheques' o o
(3) Share certificate - (4) Promissory nntes
Wﬁaﬁ%ﬁﬂ—mmww &g 7
(1) S aRE @
. (3) IR gEOTIH | : I CORC -5 B E |
Out of the fullowmg, whtch is the latest buzzwurd in bankmg mdustry ?
(1) Branch bankmg ’ (2) Financial inclusion
(3) Mass banking | - (4) None of the above
Frafafea & & Rege a‘ﬁm Gﬁw ¥ Tdmas g 6 D
(1) =% arer - Q) e sRE
(3) o ¥ W HReT (@Gﬂ?‘ﬁaﬁ‘ﬁﬂ%‘s‘aﬁ

1 5-'

Which of the following is not appllcablc to 'One Person Company' 9
(1) Its paid up share capital should not exceeéd Rs. 50 Lacs.

| (2) It can be formed for charitable purpose also
" (3) Its average annual turnover of last three years should not exceed m 2 crore
) One person can form only one company |

MPH[PHD[URS-EE-ZO19f(Cummerce)(SET—Z)f(C)

T
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16.

17.

18.

Waﬁﬁﬁﬁtﬁ’f Wﬁ@rﬁ%zﬁmmaﬁ-@m%?

_'(I)Wm(ﬁe)emgvﬂsomaﬁﬁaﬁmﬂﬁ@#m

(2) T& et SRem S R Y awmr o @ B

(s)mzwwmwmmzmmaMaam

(@Q‘%EI%%HHQEBMWW%

Whlch of the follow:ng is the most apprnpnate source for financing investment in new
machinery ? ? |

(1) Trade credit L '(2') Accm;nfpayabl'e
(3) Bank everdraﬁ o A (d) None of the above

#qﬁﬂﬁﬁﬁam%ﬁﬂﬁw%mmaﬂwﬁmﬁﬁrﬁﬁzﬁq-w
3 9 . .

(1) &@NR *=or h (2)azren—-n R

3) Jp SNatEE (4)aqaaair%®§=r€f

SEM used in marketing means :. - | |

(1) Sales-eam_-niuﬁey - o @) S.ave-efﬁcié.ney'-meney' .

(3) Scarch-engine-marketing ~ (4) Any of the above
 AERET Y W SEM)@m A Y Y

(1) Roft ¥ HAFT mm-_ﬁwmj

@ d e B @SR AdAE

"It refers to that level of EBIT, at which the EPS remains the same m'especnve of
debt equity mix". What is referred here 7.

. (1) Break-even point N V) Fmanclal indifference pelnt

(3) Cash break-even point | ' (4) None of the above
%EBIT%WW@W%W%WWEPSWW%W%W |
ﬁw%eﬁwwmw% ? - .,

) mfdz Ry . . @ Wm’fﬁﬁ
(3)aaﬁw-ﬁfeaﬁg | (@) SuleRT A & B T
MPH/PHD/URS-IEE-ZI{_H9/(Commerce)(SET-Z)l(C) b S By eyl B E 3_ ‘ PTO.
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. 19. Doctrine of caveat emptor means : | .

: (1) Let the buyer beware ~ (2) Let the seller beware
(3) Let the Govt. beware 4 All of the above
PRI T B =TT & AoeE 8 ¢
(), GhaT A TEEE AN (2)ﬁﬁmﬁwar=rte%a‘
(3) =X B FEYE B9 & (4) I |l s

20. According to Walter Model if r > k, the optimum pay-cut ratio will be
(1) 20% (2) 100% (3) 50% @ Zerﬂ
IR HIE F SIFER r>k ﬁtwwﬁaﬁqraéﬁfn
(1) 20% - (2) 100% (3) 50% 4) L7

‘21. Which of the fellomng is naf a part of Carrols four part mcdel of corporate social

responsibility ? .
- (1) Economic . (2) Legal - (3) Dtscretmnary (4) Political

ﬁmﬁr@aﬁ@raﬁa—m%ﬁwmmmls)aﬁﬁﬁeﬂwﬁﬁﬁ‘@ar&mwm_

.ﬁteera;rf%wﬁ%? »
| (I)Gaf@ifs . (2)25|=§=ﬁ | (3)1%@?5@? (4)11?r=ﬁi7:“-125

22, Whlch of the followmg agreements are declared vetd under Indlan Contract Act ?

(1) Agreements In restraint of marrtage
(2) Agreements in restraint of trade |
3) Agreements in restraint cf legal preceedmgs
(4) All of the above
-ﬁm%fa?aﬂﬁﬁﬂ-ﬁmﬁ%ﬂmmgaﬂmﬁm%mw@ﬁam
R L°4
) o B I F agEa LT
2) @R P ga9 & w0
b _"(3)$|Tﬁzm'éare"ra‘sﬂwﬂ‘mﬁt?f
| -(4) GEF?I’@RT qa

. 23, "Any Employee found usmg Whatsapp in the office Wlll be penallsed" s .. v |
" ofplan: | Idemlfy the type
(1) Rule * @) Strategy T (3) Pchcy | (4) Proce dure

_"‘Wﬁaﬁwmmmﬁa@mﬁw” :
P vgE w7 B R &R fer oo ¢ ﬂm%%’ﬂ_

L) REm @R @) AR (4)
MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)(C) . i m‘
gcollegeduniae
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- 24. Judging Peﬂple on the ba51s of the charactenstncs of the group to Wthh they belong is
% called .

| (1 Halo effeCt | (2) Stereotyping (3) Attribution - (4) Infe'rence'x .
@ﬁaﬁwwa&ﬁmaﬁq‘gwwaﬂwﬁﬁ%ﬁ%% Fel Sl

W e (2) e
RORLL @ gEe
25. . The rate of GST on gold is : S
Q) 8% N (2-)5%..”'(3510%_- @) 3%
AR A AT - Sw Taw
8% @ 5% o (3) 10% @ 3%
26. Out of the following 1dent1fy Intellcctual Property nght |
(1) Plant variety rights - = . (2) Geographical indications
'(3) Industrial design rights (4 Allofthe above |
- FrefaRga | 9@ AeH TRT | 8 L
(1)%%%%&%1 (2)%%:&514%3
(3) AeNfrs foomgT e (4)_3@3639%

- 27. Which of the ft‘:allt:w.wving~ is best indicator to determine ‘whether the value of country's -
| | currct'lc‘y is-appreciatingLor deprecia’iing.?_ - s . a

(1) Balance of trade | .- (2) Balance of payment

(3) International trade . " (4) None of the above .
ﬁﬂﬁfﬁﬁﬁ%ﬁﬂ-ﬁ%ﬁﬂﬁﬁﬁ%%fmmﬁmm%%%ﬂ
P AT W T EEAT AT IR I

(1) &uR & dgeq o (2) g J|q
W(3)aq=a-<f&ff€rm1crr€ o (4)3q1"lzﬁ-rﬁ$rz€|€aﬁ
28, Which of the following distribution channel is most sultable for consumer goods ?
(D Two level channel : (2) Three level channel
(3) One level channel - . (4) Direct channel,
mﬁwaﬁﬁ%mﬁﬂﬁf@ﬁﬁﬁaﬁﬁ—mwaﬂamﬁm% ?
A" (2) 99 @WIT = '

(3) = wT AT o (4)?EﬁEIT%I=|EI

' MPH/PHD/URS-EE-ZB 19/(Commcrce)(SET-Z)l(C) P.T.O.
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. des :
29, Karl Pearsons s co-efficient of correlation assumptions do not inclu
(1) Linear nature (2) No cause and effect relatmnshlp

.~ (3) Normality (4) All of the above

'mﬁaﬁﬂ%ﬂm&xaﬁm%‘wﬁmﬁaﬁ%? .-
() W R (2) S HIOT S S W

(3) WIROT SR S (4) ST e

30. Under which of the following methods of performance appralsal many evaluators jOlI} ;
| together to judge employees performance in several snuat:ons using variety of -

criteria : ; : |
(1) Management by. objectives - (2) Critical incide'nt
(3) Assessment centre (@) All of the above

'mﬁg@m%ﬁﬂﬁmﬁaﬁaﬁﬁﬁmaﬁwﬁmmj
m%méﬁa%ﬁﬁmﬁﬁwmﬁmwaﬁﬁ%mwmmﬁﬁ

3 T : |
I(I)G%‘sﬁi%mwm T () et g
(3) Sita = - Ct (4) SRR g4l

31. Which of the followmg test wxlI be appropnate for judgmg the 51gn1ﬁcance of
difference between the means of two samples when sample size is less than 30 and
populatmn vanance is not luwwn i

(1) f-test (2) t-test "~ (3) z-test (4) Ni:me of the above

Preffe & & A ahee & T B WS fT owT B wew B
gEENA & g IUgEd B, “lq"i‘j\"ll 30@rw%eﬂtﬁwfﬁ=m'
(1) féqﬂairvr o | (2 t-tr&awr \‘T)Q { |
- (3) zTde - N | (4)G'q'aaﬁﬁﬁq§1§=|ﬁ 3 t}
- X\

- 32, Suppose in a box of 80 bulbs packed, the mean number of defects | per box is 0. 3 Tﬁ’e
.- percentage of bulbs without mistake will be : |

Q) 12% (/»f 54% B) 14% . (4) 80%

_m@mﬁsﬁmsoaﬁ%@mﬁ Hﬁ‘rmaﬁf@aﬂﬂaﬂw
_,osﬁlﬁmﬂa‘cﬁ%axv—q’fmnﬁmﬁ@n :

MR% @ 54% . (3) 4% (@) 80%-

L]
gcollegedunlae
India’s largest Student Review Platform

T

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(C)



33 IH which of the following situation bailment cannot be terminated ?
(1) Daing an act consistent with terms of bailment |
(2) On expiry of period
(3) At the desire of the bailor
(4) None of the above
Wﬁ%mmﬁwmﬂﬁaﬁmm% ?
(1) SPea & 9t & TgeT Hd BT -
(2) orafy B g w
(3) THFOER & 8T UX
@) S ¥ § B a8

34. Which of the following is most widely used method of calculating correlation 7
(1) Scatter diagram | .* ~(2) Linear method J\f\
(3) Charles Spearman's (4 Karl Pearson's -
ﬁlﬂ%ﬁaﬁﬁﬁﬂ—mﬁa—maﬁmaﬂﬁ%ﬁmﬂaﬁmm%
SqEET & S At fafr g

HsERRE O o () Xaw R
(3) = RaaAT L (@) e R

- 35. Where products are complementary to each other, the shape of md;ffcrence curve will -
be like English letter? =~ =~ e
(1) N @2 F - (3)L S @M -
wwm—g&%%mé‘lﬁ% mﬂmwmmaﬁvﬁw
Srer 6T _ |
(1) N - @P oL @ M

36. Monopolistic competltmn is a mix of which of thc following ? -

" (1) Perfect competition and ohgopoly
(2) Perfect competition and monopoly
_ (3) Ol:gopoly and monopoly
@ None ‘of the above .
e SEn TS SUlE ﬁwﬁﬁaﬁ H %r ﬁsaa»'r rsror % ?
(1y goi ufrnfat AN STNARR .
(2) qoi ufernfrar SN TR
(3) R oY t’.’éﬁlﬁ‘l?ﬁl’f
| @) 9T & 9| H1E el | | | |
MPH/PHDIURS—EE-ZO19I(Commerce)(SET-Z)/(C) " R T 0.
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37.

38.

39.

IWhich of the followings is #ot an Bbjcctive of C?n'lpetitinﬁ Commission of India ?
(1) To pminntc monbpo']ics_ | | |

(2) To create cnmpétilibn fund

(3) To p;*otect £he interest of consumers

(4) To curb negative aspects of competlhon o
ﬁmﬁf@aﬁ%zﬁﬂw%mﬁma@wwaﬁm :;37 %?

() e B wgwEr ¥ B R

-(2)nﬁcrﬁﬁ1mﬁf€ram%r%ﬁ‘w

(3)aqﬁaareﬁ%f%aa?rw%m
(4)mﬁm%wasq%§aﬁwa@mmﬁ%ﬁm

Charging differcnt prlces for the same product from different customers is called

| (1) Double pncmg o (2) Cycllcal prlcmg-

(3) Transferpnt:mg | woow g L w (4) Price dis:ﬁminatiﬂn

() & 5 fFafor (Z)aeﬁzrﬂ\wﬁ‘raﬁw

Q) s gew (4)@%@;13;
. Anindifference curve is always : |
.(1) Concave to the origin N 2) Cﬁpvex to the origin -
| (3) A honznntal stra:ght lme | | (4) A vertical straight lil;e '
(1) SRy E ST " (Z)G?qﬁ‘-r B o
1(3)@%&‘13%?@3@1 . |(4)@mafmww‘

: : ; )
L]
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. 40. Match List-1 (Accountmg standard) with List-II (Relatlonshlp) and select the correct

_answer using the codes given bclow and lists :

‘ List-1 | List-11
A AS-6~ B 1. Accounting for consolidated financlal
- - - | statements
~ B. AS-12 . Accounting for fixed assets
- C. AS-10 Depreciation accounting
D. - AS-21 _. Accounting for Government (Grants
Codes : . | | |
A B C D
(2 4 3 1
()3 4 2 - |
B34 3 1 2
@1 2 3 4

q;ﬁ-l e ﬁ?ﬁll‘

- A. AS-6 lﬂﬁﬁﬁﬁ?ﬂuﬁw%ma@ﬁ#
B. AS-12 - 2. o wERE W REw
C. AS-10 . : 3. IR wEhT | N
D. AS-21 4. mzﬁr{’r arj,m:r % R t‘r‘@m
- &e
A B C D

|2 4 3 1

@234 2.1 |

3)4 3 1 2 | :
@1 2 3. 4 - _

L 41. The practice of recordlng deprccmtlon is due to whlch of the followmg concept
| (1) Money measurement concept Q) Entlty éoncept | |
(3) Going concern concept 4) Matchmg concept .
ﬁﬁ%ﬂ@ﬂﬂwmﬁﬂﬁﬁﬁﬁamﬂmﬂ%m%?
() o AR "R () FhR SEERem
(3) vafa Feee SwEEREn. . (4) B @ sraere
© MPH/PHD/URS-EE-2019/(Commerce)SET-ZY(C) _ . .~ - .. ‘RT.0.
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12 | c
42. Set of marketing tools that a firm uses to pursue its marketing objectives in a target’
market is called : o -
- (1) Product mix | (2) Marketing mix
(3) Promotion mix | (4) All of the above

mewmﬁwwwﬁmﬁmaﬁﬁﬂm
Te B A STANT HI @, I HET AT Y |

(1) SR B () R fysor
(3) SRS ST @) Sudw el

. 43. Afler reissuing all fnrfeitéd shares, the credit balance remaining in forfeited share
. account, is transferred to : o
- (1) Capital Reserve ; (2) General Reserve
(3) Share Capital Account ' (4) None of the above

wwm@wﬁmawmam W&ﬁé’lﬂ?@[&ﬁé’tﬂrw
AY TRT & e By s L

) TR B (@Wfﬁﬁf
(3) ¥ L @ - (4)aqﬁaaﬁ@ra?|§=reﬁ

44. In an orgamsatlon regardmg particular batch the re_]ectlon rate found was 6% against:
the set standard of 4%. The management. found that it ‘was due to the neglrgen"c-—ﬁf‘—e

quality control staff. Which step of the controlling process is referred here ?
(1) Measurement of actual performance
" (2) Analysing deviations |
~ (3) Comparing actual pcrformancc with standards

(4) Taking corrective measure

W%ﬁ%aﬁﬁwwﬁaﬁﬂﬁﬁm%ﬁmﬁam%m
6% 4, Wﬂw%wﬁs%mﬁuawzﬁﬁmﬁ&raﬁameﬁ%m
muﬁawnﬁm%%awﬁw%%w%?

(1) ar<fas ggd= &1 AT
Q) faEes @7 fagewer -
'(3)Hﬁﬁ%mwﬁmmha%gamm
() QIR Jurg A

MPH/PHDIURS-EE-ZM9/(Commgfee)(SET;z)/{c)_-,, .
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45.

46.

47.

 48.

49i ;

. Kaizen costmg is applied to a product that is : SR
(1) Produced * (2) Ready for sale | k’k .
(3) Sold - o ~ (4) Under process for prnductmn 97/%% -
%%HFWHWEVHWEQTEWLWWTWET% | | B
(1) S 5" (z)ﬁm%mw, | | ).‘Z//
@) fem (4) e aie & erdE ' g5
Diﬁidi_ng the market on the basis of personality of consumers is a part of : 7 a e&g ?-i
(1) Demographic segmentation (2) Geographical segmentation S S A
(3) Psychographic segmentation (4) Behavioural segmentation 9: g\

-qumwﬁ%aﬁaa%aﬂmwwﬁﬁmﬁﬂwwm% ,_i%:?.‘
() SereiteE R @ (2) AR R @ | %‘_L_g
(3) W FEOT H (4)alﬁmi%rmﬁ=raﬁr | >

Working capital Rs. 6,30,000, current assets_Rs. 8,40,000 and mventury 13 Rs.4, 00 000

(including loose tools of Rs. 1,05,000), what will be the current ratio ?

(1) 4:1 @7 T3 s @) 61
.asrﬁsﬁaggrﬁﬁmooomi‘r a@wﬁmsmooomi’rqaﬂmﬁr@woooom& .
(losoooaqa%mﬂ%a)aﬁqﬁagmﬁw@m?. 5
(1) 4:1 (2)71 (3) 5:1 (4)61 _ |
' o \J\ pie)
‘Which of the followmg is not a feature of services.? | g
- (1) Perishability - - (2) Inseparablhty s -1 «
(3) Homogeneity . Yl (4) None of the-above -
ﬁﬁﬁfﬁﬂﬁﬁ@raﬁ?—m@mﬁaﬁﬁmaﬁ%?. | }:@
1 - - O (2) sAfearsTer . @},
Esiwww ST (@mﬂwﬁ@raﬁéaﬁ ¥

X and Y are partners sharing proﬁts and lusses in the ratio of 3:2. Z is adm1tted for.1/5th ,Lé
share, which he gets equally from X and Y. What wﬂl be the new profit sharing ratio ? 5—.

(1) 5:32 (2)624 (3) 542 (4) 4:322

MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(C) - €. \yf 1)) 15 gi .T. O.
| | o W aw - X0 K& Ciﬁ!rg?

XX Y 3: 2%@&@%@%%%@%%12@1/5 |
m%%%ﬁqﬁﬁmw%lﬁaﬁmeﬁww%ﬁw%l

(L) 5:3 2__ - (2) 624 (3_){_5_:4:2-_ - (4) 432

L]
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50. Which of the following allowances are partly taxable under Inénmé Tax Act?
(1) Special compensatory allowance  (2) Children education alIOwance

- (3) House Rent allowance (4) All of the above -
.ﬁwﬁﬂﬁaﬁﬁaﬁﬂ-mwwmﬁqq%mamwﬁmﬁw- -
S?. .
(I)WWW 7 (Z)Q?ci’fa?rfﬁmw | |
, (3) ApIA ﬁ’T{'IﬂT Tl?ﬂ | (4) qq'gqﬁ gy
jn . Match List-I with LlSt—II and select the correct answer using the codes glven below
and lists : i o . )
List-I -+ 7 ListII

1. Right to acquire knowledge to bean
' Informed consumer :
: nght to know MRP, date of expiry etc
Right to get relief if product does not

meet expectations
+ Righttobe protected against unsafe products

A. Right to'be infonned

B. Right to consumer educatlon x
C. nghttosafety o .

- D. Right to seek redressal -

Codes : .
A B C D.
W21 473
@2 3 4 1~
(3) 2 4 1 3
@3 4 1 2 - |
@-H%ﬂmqﬁrlmﬁaﬁﬁaﬁtﬂ%ﬁq@ eﬁ'{ Eﬁraut'nTr
'Aﬁ?ﬁTaef%‘rx?ﬂfﬁlW lwqﬁaw@wéﬁ%ﬁﬁﬂﬁ

| Bmﬁwfﬁmaﬂaﬁm-{ 2.,meﬂﬁ(wft‘?r)aﬂf&ﬁrf@a?r
| - THSARYL ST #1 erfeep

‘R pwe “ .-,%%ﬂmqﬁwmﬁ%ﬁm
D FERY W o afmR - 4 AT ST ¥ ST B sy
A B C D e e
W2 1° .4 3 "
2)2 3 4 1
32 41 3
@3 41 2

- MPH/PHD/URS-EE-2019/(Commerce)(SET-Z)/(C)
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52. The non-performin

53.

‘B. Personal fulfilmen |

15

(1 g assets are classified by banks as :
) Sub-standard assets, doubtfy] assets and loss assets
(2) Doubtful assets and bad debts

8; Standard assets and syb
Doubtful assets, loan assets and bad debts o

T IR R @ et @ ot R o ¥
(1) SU =197 ©ufty, Ry wufy ofie sy oRT

(2) ¥Ry Huly ot | |

) 7% WY o Iq W waiy

Q‘standard assets

T (@) W o, s wuRy ol wRe e

Match List-I w

and lists : -
List-I .

A, Friendship

iﬂl List-II and select the correct ans'wcf using the codes given below

- ListII .

1. Safety needs -
Affiliation needs
3. Esteem needs-

C. Stability of income _

~ D. Status .+ 4. Self actualisation needs
"Codes : y ’ | ,
A B - C D
M2 1 4 3
22 3 4 1
@32 4 1 3 L
@3 4 1 2

o . g

A, BEer 1 T STEYTwa

B. &R oft - 2, WG B SAELIHRA -

C. o1 & Regan 3. 1 F=BI /STaLTHAl .
D Rafy 4. o AW H SEeEHAT

AB C D

W21 4 3

2.3 4 1

@Gy2 4 1 3

@3 4 1 2

" P.T.O.
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" arge banks acccpt dcpcsits and provide loans

54 In which of the following market scw:ral 1
in various currencies ?

(1) Euro credit market
(g)/Fcrci gn exchange market

Prafifga ¥ @ frg aeme § @R

gRreil H 9T UaH #Rd B 7Ty |

(1) IO BT TR | (2)*3:& TaT Elm _ . |

(3) R RfFE aER (4) FIIE AR o L
55. Which of the following technique is used for forecasting ?. |

(1) Regression analysis (2) Correlation analysis

~(3) Cluster analysis | (4). None of the above

Wﬁ%%ﬁﬁqﬁﬂﬁﬁﬁ\%ﬁmaﬂ%aﬁmﬁﬁmw% ?

@) AP Rrewer e (2) Gedsy fasRraeT
3) &y fAswer (4)aqﬁaﬁﬁi#a?|§:r€f

- 56. - The best hedging tcchmquc whcn the amount and timing of foreign currency cutﬂcws
are uncertain is to :

(2) Euro currcncy market
(4) Euro bond market

(1) Buy acall option — (2) Buy acut option
(2) Enter into forward contract (4) None of the above. |
Hﬁﬁmﬁ%ﬁ‘rm(mm)dchﬂMﬂqﬁ%Sﬁgmﬁweﬁw
arfafyE Bkt B |
(1) o e P TR (Z)Ee(mﬁe)ﬁwaﬁ%
(3)eni’rquzraﬁaﬁﬁ @) ST J |/ B At

' 57. Which of the following is not correct about provisions of FEMA ?

(D FEMA i is mmﬁhf’ ed compared to FERA _
(2) It distinguishes between current account and capital account transactlcns
(3) It is meant for i'cgulatlcn of foreign exchangc | 3
(4) Nong of the above ~
ﬁﬂﬁr@aﬁ%aﬁﬁ-m%m(FEMA)%mmﬁ%aﬁﬁmﬁ a@ff %?
(1) BT (FERA) Y g H BHT (FEMA)W e

| (2)%5@@@@?@%%@?%@3@%?25@%

(3)%131%%@3%%%@4?%%&% -
(4) soder & B T |

MPH/PHD/URS-EE-2019/(Commerce)(SET-2)(C)
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\

. Under which of the followmg technique of Price Level Accountmg, various items of
balance sheet and profit & loss account are adjusted with the help of general price
index prepared by RBI : '

(1) Current value accounting fcchriique s
(2) Current cost aécuunﬁng technique

(3) Current purchasing power techmque .
(4) Replacement cost accnuntmg technigue

'ﬁmﬁﬁﬁmhnwaw@mﬁw%%ﬁﬁm(ww)-
aﬁ?@ﬂ—aﬁ@ﬁaﬁﬁﬁaa@eﬁw%@—mﬁwﬁ‘ﬂ@aaﬁzﬁﬁ%

Frae qed foher ST ¥ 7
(1) aaq™ g SrariRT SEuic
(2) T S ST T
(3) T HT A aEHND
() SR T S e
'59. As per Article 6 uf Agrecmcnt on Agriculture (AOA) which of the following are most
trade distorting box and subject to reductmn commitments ? -

: (l) Amber box - S (2) Green box ’
- (3) Blue box | - (4) ,,All of the above

gﬁwmﬁ%%m@ﬁﬁ%eﬂﬂm ﬁmﬁ‘ﬁi‘aﬁﬁﬁ%ﬁ-wwﬁﬁ
WWE]‘W%@TW(W&quﬂqam)mH chm%aréﬁ:f%?

(I)Wsﬁf%ﬁﬂ | (2). ' T e
C3) S G e (4)@?'1&69‘4%
- 60. | Initial Public Offerings (IPOs) are a part of which of the followmg market ' )
| (1) Secondary market (2) Unorganised market
(3) Primary market o -(4) None of the above
mﬂﬁﬁlﬁzﬁ‘ﬁ?mﬁﬁﬂﬁﬁﬁmwiﬁrM%?
- (1) T&cigs TR - mmmw
(3) T&T TR . (4)aqﬂaaﬁaaaéa€r |
MPH/PHD/URS-EE—ZO19!(C0mmerce)(SET-Z)/(C) S, W < . P.T:O.
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18 | ik - . i ! . | | .I I | . , | | L : | | |
. ' d spend
'61. . Panchayats in India have been given the powers by the Govt. to dec:d; a:;ilan a% eme?lltm:s'
granted (o them for the welfare of Villages. Which prma:lple ol I S §
highlighted in the above statement 7 :

(1) Unity of direction
(2) Division of work ~

. (3) Unity of command |
(4) Centralization and Decentralization |
%aa%aaﬁmsﬁmﬁraamﬁﬁr{@éﬁ mzﬁzswﬁw
%ﬁ?ﬁﬁl@ﬁwmww%?-- | o
(1) F¥ee 3 THA -
(2) ST f%rmvﬁr
(3) SRY & AT | -
(4) F=THT AR Ceoemet

- 62. From the fﬁllowmg mfonnatlon Jdentlfy the ﬁrm havmg least 11qu1d1ty

(1) Current ratio : 2.2 and Qulck ratio : 1.6
(2) Current ratio : 2.2 and chk- ratio : 1.3
(3) Current ratio : 1.2 and Quick ratio : 0.6 '
(4) Current ratio : 1.2 and Quick ratio : 0.8 - -
ﬁmmﬁwﬁmmaﬁwaﬁwﬁ |
(l)a@e@m:zzaﬂtaﬁa@m
_‘(2)a1§angm:2,2aﬁi_aﬁﬁaqgm.:_ B .
. (3) =R TR : 1.2 80 @R STqar ¢ 0.6 4 \L‘.:IO '
) I g 1290 R T 08 | /{w
~ 63. If the price -of any commodity decreases’ by 20% and the demand of that commodlty
increases by 40%, then elastrclty of demand would be : ,

(1); Unit elastic - | (2y Highly elastic
(3) Poorly elastic - : a R C) None of the above .

- el Al (axg) @ Hwa O%Wé‘raﬁr%aﬁ'{ o
B R CEIEEE Sl waaﬁmw’ ..
() 9 dreER . (Z)G%Hﬁ']aar{ LT e
(ﬂsﬁaﬁﬁm | S (4)aqaaaif%ra;-1-§a-gr o

MPH/PHD/URS-EE-ZOI9/(Commerce)(SET-Z)/(C)
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) _.'64‘ 'Debt"Equlty mix in capital structure is relevant according to whlch ef the fellewmg ;

approach ?
(1)’ Net Income Approach (2) Net Operating Income Appreach
-3 M&M approach . (4) None of the above
H-‘\iﬁﬁeﬁmﬁwwﬁmﬁmﬁﬁﬁﬁﬁﬁmgﬁaﬁw%m
TSRS ® 7
(1) 9= amg gResmior (2)ggaqﬂa1@:re¢mgﬁezﬁv1
() & & o7 giewr - (4) SRR F & B T8
- 65. Low geared company will not expose to which of the following risk ?
(1) Businessrisk —_— .(2) Operating risk ",
- (3) Inflation risk _ | - (4) Financial risk
- Eﬁﬁmémﬁﬁw%@ﬁvﬁf@ﬁﬁ@rm%mﬁ ;!E?G?TQ‘?I?
(1) |\MER sﬁﬁaq P (2) QR SR
(S)gmq?rf?resrehiﬁq st (4)&‘4?11?1@&51? |
66. Cash flows ansmg from the transaetlens in a bank should be classified as resultmg |
from : |
(1) Financing actmtles | ‘ (2) Investing activities
(3). Operating activities ~ | (4) None of the above
) -_%ﬁﬁ-ﬁewﬁmmmﬂmmmm
() R nﬁﬁrfem L (@) FRs R
_(3)qﬁena=rfri%|ﬁﬁm e (4)3@&313?%@%:@

'67.- In case of admlsswn of a partner the entry for unrecorded mvestment w:lll be:

,. (1) Dr. Revaluatlon A/c and Cr. Investment A/c _
Dr Investment A/c and Cr Revaluation Alc

| (3) Dr. Partners Capital A/c and Cr. Investment A/c

(4) None of the above
' W%nﬁar%mﬁﬁﬁmﬁamﬁiqwﬁ%mﬁnﬁiﬁ@ﬁ

(1) TR W Grar gd A9er [Faer. @

) 3 PR @ O ATE g @

(3)%?mmwg§ﬁwaﬂ'{@lﬁmﬁ%ﬂm |

@) ST § & Bg T |
\fIPH/PHD/URS-EE-ZOl9/(Commerce)(SET-Z)/(C) ‘ ,._ Sy P.T. O.
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20 |
: 5 e s s a pal‘t Df
ing of activities on the basis of pl’ﬂdlICt lmes i
68. Grouping ol ac v R el - |

- b ® . * . 2
(1) Divisional organisation ( )
(3) Autonomous organisation - (4) Group orgamsatlo .
mmﬁ%aﬂwwnﬁﬁﬁaﬁzﬁrﬂaﬁmwig;“ ’ %
(1) ST e W | (2)aemf?ﬂ'=5wro’=f. 1
(B)WWEH , (4) e TS Bl i i
thc ummy
9. Under which of the followmg training methods, employees are trained on ) [
model :
(1) Induction training - | (2) Internship training :
S Vestibule training ' k
(3) Apprenticeship training 4) _ :
ﬁmﬁ%ﬁmnﬁwq@ﬁr%aﬁﬁmﬁmﬁtﬁaﬁsﬁmﬂm‘m
(1)3111%3551%1&1“1 o (2) ge-ifera HieET | :
. (3) wiRTERm gfRTereT S (4) TS JIRTE©T :
'70. Which of the folluwmg is a method of direct marketing ?°
(1) Fliers | | ' (2) Phonecalls
| (3) Text messages (4) All of the above
'ﬁmﬁiﬁwﬁ@fﬁﬁ—@m&iﬁqmaﬁ@ﬁfﬁr% ?
(1) IS o ow cams . (Z)tﬁ?fiﬁﬁf
(3) Id e ‘ 4) G'Ta‘nﬁ gsir
7. If sell'i;lg price of a p1:0duct is in%:reased from Rs. 100 toRs 120, it will ? ?
(1) Increase break- even point @ Reduce break-even pomt
(3) Increase vanable cost . ' (4) Reduce P/V ratio
mﬁmﬁwﬂﬁmﬁaﬁ%memﬁ%w lzomﬁq%‘raﬁﬁ%
T BT 7 |
(1) @=-frede g & a@d (2) Htr-ﬁ'ﬁ@'q ﬁsrg e S
(S)aﬁﬂ'(amﬁﬁ‘qﬁﬁ | | (4)P/va=lgqufa?ﬁ’r
72 ~ "Buy 2 get 2 free offer on Shirts" is an example of which sales pmmotmn technique ?
(1) Product combination ~ (2) Rebate ¢
(3) Discount | ' 4) Quantlty glft

MPH!PHDIURS-EE-zl]19/(Commerce)(SET-Z)f(C) .- W T
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w2 g ' N
ST & 3 ﬂqﬁﬁﬁwmm ﬁﬁﬂﬁaﬁ’rwﬁqaﬂa—vﬁzsamw
(1) S widor | e |
3 ‘ .

) BT (4) 9= IUmIY

73. U/S 208, the obligation to

‘ Pay advance tax arises if such tax durin thalt ear is:
(1) Rs. 10,000 or more o |

(2) Rs, 20,000 or more

| 'S;)SI;SU;S 000 ormore © =~ - (4) Rs. 40,000 or more
3 o @@Ha:rgﬁrwmﬁmaﬁﬁwaﬁ%%wq@w FL
(1) 10,000 9% oy aifers (@) 20,0005 = e .
N ©) 25,000 59F = e?fé?rcs (@ 40 ,000 9 a1 Iferes
74.

When RBI sells the approved securmes to the banks with. the commltmcnt
repurchasc the same¢ after a specified period is known as : : | -
(1) DlSGDllIlt rat¢  (2) Repo (3) Bank rate - (4) Reverse repo
Sl cal e T Mids aqafﬁ:r P 9 I B

5ol ?q‘ FiedE & @
i & oA ﬂﬁ?ﬂ?ﬁf st Hhl o e %

() 88 & =) @™ . ) FH e '(4)_ﬁaﬁ%:&r
75. Thecost of retained eamingsis: . = . - |
(1) Profits | () Interest |
(3) Dividend~ . " (4) None of the above
VI I E _ (2) = -
(3) @i S (4) ST X A B W
76. According to wlgc_h’_,_comeﬁ the avallabll?‘:y and affordabqlhty of the nroduct are -
considered to be the key to the success ofthe firm?
(1) Sales concept (2) Marketing concept
* (3) Production concept - - (4) Product concept

- Tp ofguReT B 9TENR, Wﬁwweﬁrweﬂaﬁrtﬁﬁaﬁﬂwa%
el AT ST ¥ 7

()Tt B SmECT (@) R & smeen
(3) SRS & FIEOM L . (4)chnaaé’reqaemvrr
MPH/PHNDITRO_EF 2N VIC ammarea SR I\ e 5
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77 * The tlme limit to get mformatlon under RTI Actis f .
(1) 20 days (2) 30days (D 60days  (4) 0days
Wﬁﬂlﬁaﬁlﬁ'ﬂﬂ%aﬁa@mmmﬁaﬁwﬁm%
(1) 20ﬁ=r @ 301%3 (3) 60 fa=T (4) 90ﬁ=r
78. Point of Sale (PoS), Smart cards and ATMS are part of
(1) Virtual banking system . =~ (2) Group bankmg system
(3) Universal banking system - (4) Mixed banking system
‘Hﬁieﬂcﬁﬁaﬂﬁm‘s‘aﬁ‘{qﬁmaﬁr%ﬂ% o
-,(l)ma‘ﬁﬁmm e, (Z)H'ﬂ?aﬁﬂﬂvﬂ'&ﬁ N ;
(3) WS &R ST o (4)ﬁ413313§’rf3ﬂ5|“1ﬁﬁ |
79. Pnnclple of Subrogatlon is not applicable to-which of the following: type of insurance ?
| (1) Manne insurance = (2) Fire msurance
(3) Life insurance s @ All of the above ,
aﬁlﬁmmﬁi@ﬁﬁwﬁﬂf@ﬁﬁﬁﬁmm%@mwmaﬁ 27
+.(1)Hﬁﬁﬁ‘=ﬂ | | - @efsdm __
(3)sha=ra‘h=n R B (4)@%14&%-

 80. Which of the following is not a dxfference between chcque and blll of exchange ‘?
(1) Cheque bears no stamp, whereas bills should be stamped .
(2) Cheque may. be crossed but bill can't be crossed © =

(3) Grace days are allowed i in chcque but not in case of bill ~

4) BOth are bill of exchangc XN I

(1)%@1@#%3&% Gﬁﬁﬁﬁawwmaﬁq -
(Z)Mﬁmmmﬂwg%ﬁﬁﬁaﬁrmﬁaﬁmwm

() 8w % I Rl ) o 9 R A o s

--(4)%#7%%??%1%16% |

MPHIPHD/URS-EE—ZB 19/(Commerce)(SET-Z)l(C)
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| 31 : :Y;“;h :"lf thel; follnwmg 13 not a money market instrument ?
5 C:mté’:at:res (2) Commercial bills
of deposits .. (4) Treasury bills
m Z;;?H %?f(r TR e T ¥ 7
'(3)<ﬂmasn:rq1um—=;) | e
(4) T foreT _
82. Under which of the followmg cumpetltmn variety nf gnuds will be available to ‘the
consumers : | o | o | gﬂ\o '
(1) Oligopoly = . | R (2) Perfect cnmpetition 4‘ R
.Munopollsnc competition - (4) Imperfect competition . ‘
éﬁ;?ﬁﬁﬁ?ﬁmﬁm%aﬁﬁﬁaw%ﬂmﬁ’ﬁmﬁﬂm
(1) S (@ ot sReRwm
(3) THfERR SR (4)GTT1‘Ilﬁtﬂ'ﬁTﬁT
- 83. When income tax return is ﬁled nnlme without usmg dlgltal mgnatures then which of
the fnllnwmg form isused? = -
(1) ITR-VI @) IRV '(3) ITRIIT (@) TTR-VI
*mmmmwmmwﬁﬁmwww% E?I‘
E Fda e oo amr e 2 - -
| (1) ITR-VI - @) ITR—V - (3) ITR-II -'(4) ITR-VI
- 84. Planmng of takmg advantage of dlfferent incentives and deductlon isapartof:
| (J) Purposwc tax planning | (2) Permissive tax planning
3 (3) Mutual tax planning o | - (4) None of the above :
: ﬁfﬁwmaﬂtaﬁ?ﬁwwaﬁﬁfﬂwaﬁr@m%
(1) Rt s P (2) STTFT X P
- (3) SRR W Ao (4)aqﬁaaifﬁaﬁlé=|ﬁ

’ '85. The Income tax slab rate for Assessment Year 2020-21 for ; mcome from Rs. 2, 50 000.
B ‘toRs. 5,00,000 is :

) 15% 2) 20% . 3) 5% (A—) 10% ~

L 2;50,000 B9 ¥, 5,00 000 T T Eﬁr Y B T o ad 2020-21 % F@z
| T Wi aUe -

M 15% . - @20%. - (5% 4y 10% L
| MPH/PHD/URS-EE-2019/(Comniere)SET-ZY(C) . . . . .. PRT.0.
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86. Countervailing duties are imposed to :
(1) Neutralise the negative effects of subsidies
(2) Increase the tariff revenues of domestic Government
(3) Punish domestic consumers for buying high priced gﬂﬂds |
(4) All of the above
HREEQARAT (TUER HA A1) Eﬂcff F'l"Tl'ﬁL et ®
(1) SR $ THRTS A9ET B FITAT BT
(2) NG THER B FaEE T 7 gRa w0
(3)aaaanawaﬁaﬁ%mmmﬁwaﬁaﬁaﬁgam

| 4) G"ﬁﬁﬁ |l | o Cl e/&
87. Which of the followmg is an assumptmn of law of demand ? (DJ_L LP&WQ

I

| (1) Taste and preferences of consumers don't chang; | /T- J/

(2) The income of the consumers don't change

- (3) There is no change in the prices of related goods
(4) All of the above | |
ﬁtﬁﬁlﬁaﬁ%aﬁﬁmm%mﬁaﬁm%?
(1)W@Tmﬁﬂaﬁaﬁmuﬁmqaﬁaaﬁ%
(2)mﬁﬁaﬁﬂﬁmﬁqﬁﬂﬁﬂﬁﬁé’lﬂ% x.
(3)aaﬁaﬂmﬁaﬁaﬁqﬁrﬁﬂémaa€i§ﬂ% |
(4) ST G <

88. The decision to own or lease.will be taken by comparing :
(1) Costof purchase and lease |
(2) Present value of total post-tax cash outﬂows in purchase and lease
(3) Present value of total pre-tax cash outflows in purchase and lease - - -+
_ (4) Profits on account of purchase and lease

| wm%mmmmmmmw

) @l ofR uge W W

| (2)@“ﬂﬁaﬁ1q33ﬁwflﬂﬂﬂﬂﬁﬂﬁﬂigzﬁraéqmw
(ﬂwaﬁ?qﬂ%ﬁﬁﬁmwmiﬁraﬁm@'
4) T T qee & AWl W T

. ﬁPmPHD/URs-EE-z019/(cOmmerce)(SET-Z)/(c) B e 0w Tmagine
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89,

90.

91.

25

To control credit iﬁ tlhe country RBI may :
(1) Sell the securities in the open market
(2) Buy the securities in the open market
(3) Reduce Cash Reserve Ratio

(4) Reduce bank rate

XA M B Pt A B Rig T & ons

—

- (D) sitrgfeett By g& amwere ¥ 3 .
(2) TR B g@ e iR T I N
(3) Weﬂ'{ﬁﬁa@mzﬁqaﬁ . | |
(4) ¥ W T B | |
Real Time Gross Settlement (RTGS) is manaéed b_;,f :
(1) State Bank of India - ~ (2) Gowt. of India
(3) Reserve Bank of India (4). Concerned Bank
ATRINAH T Fbal F9e Ssig fyar 1 .
“(1) RO Re §% @Ry (2) 9RT W&HR ERT
) e Red S g1 (4)HE|ﬁa§zsaTrr

Under Managenal Grid ﬂlenry of leadershlp which of the foﬂowing managerial style is
cnns:dered autocratic style of Ieadershlp - CF e

(1) 91 Managerial Style (2 1.9 Managerial Style

€3) 1,1 Managerial Style . 499 Managerial Style

Wﬂaﬂa%%mﬁwwﬁ@a@hﬁwﬁm@a , e '
Fger Al AT ST # mwwaﬁ@ﬁ

(1)91naaa-?ms§“tt-ﬁ -(2)19::auaau§’|r-ﬁ

@) 1,1 v A (49,9 wEem A

@ Which of the following descrlbes the basic principles of business ethlcs "

'_ MPH/PHDf_URs-EE.z_o19/(Cnmmerce)(SET-Z)f(C)

(1) Utilitarianism, social commitment and reputation
(2) Principle of right, principle of justice and social commitment
(3) Utilitarianism, principle of right and principle of j Justlce

(4) Utilitarianism, social reputation and justice

P.T.O.

i i
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| ' Th;e law of variable proportion I.in short'run is also kﬁo@n as

.(.1) Law of-diminishing_ returns LR |
(2) Law of constant retums‘ AL D

(3) Lav.;ofincreasing returns .

-(4) None of the above '
emﬂfﬁrﬁqﬁaﬁaeﬁm%ﬁwﬁﬁﬁww%:
(1), e Rest & B o

(2) Rt Rt E"TW :

3)- ﬁﬁ T T BT

4) G’q‘aﬂﬁ ﬁ‘ | HI2 HéT

94. Wthh of the following dlstmgulshes marketmg and sellmg Y ol

(1) No rclatlonshlp behween sellmg and marketmg

(2) Marketing is a part of selhng P

3) Sellmg and markctmg are same

/

8y Selling is a part of markctmg
ﬁﬁwi’i@rﬁﬁﬁt}vﬁaﬁtﬁﬂﬁaﬁrww%? |
| (I)Qa%eﬂrﬁwm%ﬁﬁﬂéwaﬁﬁ%
I+-(2)EIW°HT%I?I%EE[QEE%‘€HT% |
 (3) ST R e 2
'(4)i%|a$ri%rtm=r'esr®5f%?ér%
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95X | |
_ Itd, torfeited 300 shares uf Rs 10 each, Rs 7 called up for non-payment of first caIl

of RS 2 per share. Out of these, 100 shares were. reissued at Rs. 6 per share. How much
~amount will be transferred to capital reserve account ?

(1_)‘Rs.2,100 ‘ . (D) Rs. 400
(3) Rs. 1,500 .~ (4) Rs. 1,400
Xf&lﬁ%@%lomﬁ%moﬁmwﬁmwu@zﬁ?@ﬁﬁW2mﬁ |

'ﬁ%ﬁﬂa%hwﬁ%ﬁﬂqu TH ¥ 100 X 6 I Uy Y
%%ﬂﬁﬁqﬁﬁﬁﬁﬁﬁqmalﬁﬁ?ﬁ?wﬁwmmﬁﬁﬁﬁ

S 7 |
20w s @) "‘.00“%" | - 3(30)(!0 3000
(3) 1,500 T9a . () 14008 (
_ R | 33@300 -0
96. Which of the following is not.a measure of dispersion ? z 10

(1) Median ~ (2) Ranges | 214 OO

- (3) Deviation B Standard dewatmn . 100%b=060
ﬁwﬁi@aﬁﬁﬁw%ﬁaﬂm?ﬁ%? i " )
() AemTR. 0 (2)=sfi’mT
@ feew - (@ W R

..97. The concept of green mafketing’ feféxé to: |

(1) Marketing of green colour products
(2) Agnculture marketing _ |
Q) Environment friendly marketmg

* (4) None of the abovc

ey AT @ SFFERN B Haﬁia' Em?n 2:

- -(1)ﬁw%eﬂr€fzﬁrﬁqvﬁ |
‘ ;_(2) iy i%mﬂﬁ
(3) gataxer & STFES U
(4) SudeRT ¥ & A A
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28 :

‘ Whe“ the population is scattered over a wide geographwal area, then which °f the
following sampling technique be appropriate ? ' | : |

)) Random sampling (2) Multi-stage sampling
(# Convenient sampling (4) None of the above
meﬁﬁﬁwaﬁﬁﬁmmﬁ% @ P # & |

ﬂ%ﬂ—mmaﬁﬁﬁwgaﬁaﬂﬁ?_

98, Which of the following is n;:r a Non-probability Sﬂmpli'ng method? ok
- 1) Cluster sampling B . (2) Judgement sampling

(3) Snowball sampling (4) Convenience sampling

ﬁﬂﬁf@aﬁ%ﬁmmﬁtﬂm@mwﬁﬁﬁ T8 ¥ 7
OwExm 0 Pemag
(3) Rmwg® T - (@) giEEr W
100. Which of the following type of research is carned out to ﬁnd solution to a real life
problem reqmnng an action ? ‘ .
(1) Research_ can't bel carried out | : (2) Pure‘reSeérch '
- (3) Applied research S (4) None of the abovc

(l)aﬁﬂmaﬁmwm%
(2) g= Mg |

- (3) wEPE e ‘_

| (4) ST A ¥ B

i

. . _ - S
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